Lecture 5
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Exercise 1: What is the Shannon capacity of this channel? Ple’

What is the maximum symbol rate if the symbol period is to
be more than 10 times the group delay ripple? What is the
maximum area (in km?) that can be serviced by one DOCSIS
CMTS assuming a velocity factor of 0.667
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Exercise 2: Again compute the Shannon capacity based on
the CNR and the maximum symbol rate based on a period
equal to 10 times the group delay ripple.
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Exercise 3: Assuming 255 bytes per codeword, what is the
maximum number of interleaver rows? If an error burst starts
with the first byte, what is the longest error burst that will
result in 2 or fewer errors per codewaord? f or fewer errors per
codeword? How many errors will appear at the output of the
decc:der fcn' error burst DflhIS- Iength or shc:rter?
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Exercise 4: What are the minimum and maximum bit rates for C°a€ wor ) '
these symbol rates and modulation formats, notincluding FEC
or other overhead?
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